QT Factorise Harder Quadratics

1. Factorise 2a° + 7a + 6 ~\1L
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5. Factorise 3x” — 8x — 3 7 ! \ (2 marks)
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7. Factorise 5p° — 36p + 7 Ve (2 marks)
/
QL’KQ-\Q >\ -5 _\.\

o (R-1) -\ (V)

(Q - '\X{g - \)

www.3minutemaths.co.uk for real maths, tips and techniques Grade 7 ish




QT Factorise Harder Quadratics

8. Factorise 5w° — 11w + 6 v % (2 marks)
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10. Solve 15¢° — 22¢ + 8 = 0 /\Lb (3 marks)

\Tet-\1e —\O= 9 =29 - =0
la Lr-_ —\\) - \.-Lrn. ..s\) =

QQ ~AKye-1) =9
.S -4=20 o -L:Q

Ta =\ da = 2
QS-'Q - =
< =3

— e
—

www.3minutemaths.co.uk for real maths, tips and techniques Grade 7 ish




QT Factorise Harder Quadratics

11. Factorise fully 2x° — 128 (3 marks)
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12. Factorise fully 5x° — 125 (3 marks)
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13. Factorise p2 + 2pq + q2 (3 marks)
Qb +1e &\

Q*\ng\) i &\N—\t\}“\’ \*\)
— Le';_\}}"‘o

14. Factorise 2a° — 18ab + 28b° TS (3 marks)
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